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Part One
1. (1 punto) exercise 2c a =5, b=3, c =2 4. (2 punti) exercise 3ba=3,b=2,¢c=7
(a) answer 4 wrong » (a) answer 1 correct
(b) answer 3 wrong (b) answer 3 wrong
> (c) answer 1 correct (¢) answer 2 wrong
(d) answer 2 wrong (d) answer 4 wrong
(e) answer 5 wrong (e) answer 5 wrong

Soluzione: answer 1

2. (1 punto) exercise 2a a =5, b=2, c=14

5. (1 punto) exercise 2b a=4,b=3,¢c=2
a) answer 3 wrong

(a) answer 2 wrong

(

(b) answer 5 wrong
(b) answer 5 wrong

> (c) answer 1 correct
(c) answer 4 wrong

(d) answer 2 wrong
(d) answer 3 wrong

(e) answer 4 wrong
» (e) answer 1 correct

3. (2 punti) exercise 3d a =2,b=2,¢c=3
6. (1 punto) a=14,b=14,¢=2, k=5

a) answer 1 correct Evaluate with two exact decimals

b) answer 3 wrong
14:5= ‘ 2,8

d) answer 4 wrong

(
(
(¢) answer 5 wrong
( .
( 7. (1 punto) Se tiene la ecuacién

e) answer 2 wrong

Soluzione: answer 1 h—zp =vn+1—14
despeje p
S L
p=| 6 |
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8. (1 punto) exercise la a = 3 11. (1 punto) exercise 14de a =5, b=4,¢c¢=5
> (a) answer 1 correct (a) answer 2 wrong

(b) answer 2 wrong » (b) answer 1 correct

(
(c) answer 3 wrong (c) answer 5 wrong
(d) answer 3 wrong
9. (1 punto) exercise da a =5,b=2,¢c=6
(e) answer 4 wrong
(a) answer 3 wrong

Soluzione: This is the solution a =5,b=4,¢c=5

(b) answer 4 wrong
(¢) answer 5 wrong 12. (1 punto) exercise 11a
(d) answer 2 wrong {¢, z, y}
» (e) answer 1 correct
» (a) answer 1 correct
10. (2 punti) exercise 9d a =5, b =3, ¢ = 8 (b) answer 2 wrong
(a) answer 2 wrong (c) answer 3 wrong
(b) answer 4 wrong 13. (1 punto) exercise 11b
(¢) answer 3 wrong {a, b, c}
> (d) answer 1 correct
(a) answer 2 wrong
(e) answer 5 wrong

(b) answer 3 wrong

» (c) answer 1 correct

Some other questions

Part two
Some other instructions.
EsErcizio 1. Let A ={a,b,c} and B = {a,c,x}.
(a) (2 punti) List (without repetition) the elements of the set AU B

Soluzione: 7 punti

AUB ={ab,c,x}

(b) (2 punti) List (without repetition) the elements of the set AN B

Soluzione:
ANB ={a,c}
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1. (1 punto) exercise 2b a =3, b=4,c=7
a) answer 4 wrong

b

answer 3 wrong
d) answer 2 wrong

(

(b)

> (c) answer 1 correct
(d)

(e)

answer 5 wrong

2. (1 punto) exercise 2c a =3,b=4,c=06
a) answer 4 wrong

(

(b) answer 2 wrong
(¢) answer 5 wrong
(d) answer 1 correct
(e)

answer 3 wrong

3. (2 punti) exercise 3b a=5,b=4,c=3
(a) answer 4 wrong
(b) answer 5 wrong
> (c) answer 1 correct
(d) answer 2 wrong
(e) answer 3 wrong

Soluzione: answer 1

Part One

4. (2 punti) exercise 3d a =4,b=3,c=2

a) answer 2 wrong

¢) answer 4 wrong

(
(
(b) answer 5 wrong
(
(d) answer 1 correct
(

e) answer 3 wrong

Soluzione: answer 1

5. (1 punto) exercise 2a a =2, b=2, ¢ =2
(a) answer 4 wrong

b

answer 2 wrong

c) answer 1 correct

d

(b)
(c)
(d) answer 3 wrong
(e)

e) answer 5 wrong

6. (1 punto) exercise 4dd a =2,b=3,¢=7
(a) answer 5 wrong

b

answer 3 wrong

c) answer 1 correct

(b)
(c)
(d) answer 4 wrong
(e)

e) answer 2 wrong
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7.
> (a) answer 1 correct (a) answer 5 wrong

b

answer 1 correct

¢) answer 5 wrong ¢) answer 4 wrong

d) answer 4 wrong d

(

(

(b) answer 3 wrong >
(

( answer 2 wrong
(

(b)
(c)
(d)
e) answer 2 wrong (e)

e) answer 3 wrong

Soluzione: This is the solutiona =4,b=2,¢c=6

12. (1 punto) exercise 1la
8. (1 punto) a=12,b=13,¢=2, k=5
Evaluate with two exact decimals {a, ¢, z}

12:2 = 6 (a) answer 2 wrong

a
(b) answer 3 wrong

9. (1 punto) exercise 1b a =5 > (c) answer 1 correct

(a) answer 3 wrong 13. (1 punto) exercise 11b

» (b) answer 1 correct {a, b, 2}

(c) answer 2 wrong

(a) answer 2 wrong
10. (1 punto) Se tiene la ecuacién » (b) answer 1 correct
m2k (c) answer 3 wrong
T yri-1
n
Some other questions
despeje k
k= m
k= 6

1 punto) exercise 1daa=4,b=2,¢=6 11. (2 punti) exercise 9b a =5, b=5, c =8

Part two
Some other instructions.
EsErcIzZIO 1. Let A = {a,b,c} and B = {a,c,z}.
(a) (2 punti) List (without repetition) the elements of the set AU B

Soluzione:

AUB = {ab,c,x}

(b) (2 punti) List (without repetition) the elements of the set AN B

Soluzione:
ANB = {a,}
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. (1 punto) exercise 2c a =5,b=5,c=38

(a) answer 4 wrong
(b
(c
(
(

) answer 2 wrong

)
d) answer 5 wrong

)

answer 1 correct

e) answer 3 wrong

. (1 punto) exercise 2a a =3, b=2,¢c="7

(a) answer 5 wrong
(b) answer 4 wrong
(¢) answer 1 correct
(d) answer 2 wrong
(e

)
)
)
)

answer 3 wrong

. (2 punti) exercise 3ba=4,b=3,c=2

a) answer 1 correct

b) answer 3 wrong

(
(
(¢) answer 4 wrong
(d) answer 2 wrong
(

e) answer 5 wrong

Soluzione: answer 1

Part One

4. (2 punti) exercise 3d a =2,b=2,c=2

a) answer 4 wrong

¢) answer 3 wrong

(
(
(b) answer 2 wrong
(
(d) answer 5 wrong
(

e) answer 1 correct

Soluzione: answer 1

5. (1 punto) exercise 2ba=4,b=2,¢=4
» (a) answer 1 correct

b

answer 4 wrong

c) answer 3 wrong

d

(b)
(c)
(d) answer 2 wrong
(e) answer 5 wrong

6. (1 punto) exercise la a =7
» (a) answer 1 correct
(b) answer 3 wrong

(c) answer 2 wrong

7. (2 punti) exercise 9c a =4, b=3,¢c=3
(a) answer 2 wrong

b

answer 3 wrong

d

(b)

» (c) answer 1 correct
(d) answer 4 wrong
(e)

e) answer 5 wrong
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8. (1 punto) exercise 14d a =5,b=5,¢=38 11. (1 punto) Se tiene la ecuacién

a) answer 3 wrong 2

ﬂ:\/p—l—l—?)

e
(
» (b) answer 1 correct b
(
(
(

¢) answer 2 wrong despeje r

d) answer 4 wrong
e

) answer 5 wrong

Soluzione: This is the solution a =5,b=5,¢=38

9. (1 punto) a=15,b=13,¢=4, k=5

Evaluate with two exact decimals 12. (1 punto) exercise 11a

13:5= 2,6 {a, b, y}

(a) answer 2 wrong

a
10. (1 punto) exercise b a =5,b=5,¢c =8 (b) answer 3 wrong

(a) answer 2 wrong » (c) answer 1 correct

b

answer 4 wron
8 13. (1 punto) exercise 11b

{a, =, y}
d

answer 5 wrong

(b)
» (c) answer 1 correct
(d)
(e)

answer 3 wrong (a) answer 3 wrong

a
» (b) answer 1 correct

(¢) answer 2 wrong

Some other questions

Part two
Some other instructions.
Esgrcizio 1. Let A ={a,b,c} and B = {a,c,x}.
(a) (2 punti) List (without repetition) the elements of the set AU B

Soluzione:

4 punti

AUB = {ab,c,x}

(b) (2 punti) List (without repetition) the elements of the set AN B

Soluzione:
AN B ={a,c}
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1. (1 punto) exercise 2a a =5,b=4,c=3

(a) answer 5 wrong
(b) answer 2 wrong
(c) answer 1 correct
(d) answer 4 wrong
(e

)
)
)
)

answer 3 wrong

. (2 punti) exercise 3d a =4,b=3,c=2

a) answer 1 correct

b) answer 3 wrong

(
(
(c) answer 5 wrong
(d) answer 2 wrong
(

e) answer 4 wrong

Soluzione: answer 1

. (1 punto) exercise 2b a =2,b=2,c=38

(a) answer 4 wrong

b

answer 3 wrong

c) answer 5 wrong

(b)
(c)
(d) answer 1 correct
(e)

e) answer 2 wrong

Part One

. (2 punti) exercise 3ba=2,b=4,c=38

a) answer 5 wrong

b) answer 4 wrong

(
(
(¢) answer 3 wrong
(d) answer 2 wrong
(

e) answer 1 correct

Soluzione: answer 1

. (1 punto) exercise 2c a =5,b=3,¢=8

(a) answer 3 wrong

b) answer 1 correct

c) answer 2 wrong

(b)
(c)
(d) answer 5 wrong
(e)

e) answer 4 wrong

. (1 punto) exercise 1dba=4,b=3,¢=3

a) answer 3 wrong

b) answer 2 wrong

(
(
(c) answer 4 wrong
(d) answer 5 wrong
(

e) answer 1 correct

Soluzione: This is the solutiona=4,b=3,¢c=3

. (1 punto) exercise 1b a = 2

(a) answer 2 wrong
(b) answer 1 correct

(c) answer 3 wrong
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8. (2 punti) exercise 9ca =3,b=4,¢c=6
(a) answer 2 wrong
(b) answer 4 wrong
(c) answer 1 correct
(d)
(e)

>

d

answer 3 wrong

e) answer 5 wrong

9. (1 punto) Se tiene la ecuacién
w?r
o Varli-4

v

despeje r

10. (1 punto) a =14,b=15,c=2, k=4
Evaluate with two exact decimals

14:2 = 7

11. (1 punto) exercise dc a =2, b=4, ¢ =2
(a) answer 3 wrong

b

answer 2 wrong

d

(b)

(c) answer 4 wrong
(d) answer 5 wrong
(e)

e) answer 1 correct

12. (1 punto) exercise 1la
{a, z, z}

» (a) answer 1 correct
(b) answer 2 wrong

(¢) answer 3 wrong
13. (1 punto) exercise 11b

{b, ¢, x}

(a) answer 3 wrong
» (b) answer 1 correct

(c) answer 2 wrong

Some other questions

Part two

Some other instructions.

EsERcIZIO 1. Let A ={a,b,c} and B = {a,c,x}.
(a) (2 punti) List (without repetition) the elements of the set AU B

Soluzione:

AUB = {ab,c,x}

(b) (2 punti) List (without repetition) the elements of the set AN B

Soluzione:

AN B ={a,c}
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Soluzione Versione n. 1 Soluzione Versione n. 2 Soluzione Versione n. 3

1. ¢ 1. ¢ 1. ¢
2. ¢ 2. d 2. ¢
3. a 3. ¢ 3. a
4. a 4. d 4. e
5. e 5. ¢ 5. a
6. 2,8 6. c 6. a
7. a 7. a 7. ¢
8. 6 8. 6 8. b
9. a 9. b 9. 2,6
10. e 10. h 10. ¢
11. d 11. 6 11. e
12. b 12. b 12. 6
13. a 13. ¢ 13. ¢
14. ¢ 14. b 14. b

Soluzione Versione n. 4

- w
o

ot
on

© »®» N

10. 6
11. 7
12. e
13. a
14. b
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